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012 6th Sarkany-Aranytiz International Mster Tournanment GW section
022 Budapest

032 HUN

042 2015/ 08/ 15

052 2015/ 08/ 23

062 10 (10)

072 10

092 | ndi vi dual round robin

102 (700533) | M Feher, Gyula I A

112 (731587) Gyonber, Tamas NA (737283) Gergacz, Daniel

122 (90-90 min/40 noves + 30-30 min/all) + 30 sec/nove

132
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DDD SSSS sTTT NNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN RRRR FFFE THTTTTTITTT BBBB/ BB/ BB PPPP RRRR
1111 1 1 2222 2 2 3333 3 3 4444 4 4 5555 55 6666 6 6 7777 7 7 8888 8 8 9999 9 9
001 1 nmGM Szabo, Gergel y- Andras- Gyul a 2551 RQU 1205064 1983/00/00 6.5 1
10 w1l 2wl 3 b= 4 w1l 5b = 6 w= 7 b= 8 wl 9b =

001 2 mMmM Prasanna Raghuram Rao 2424 |1 ND 5022401 1994/00/00 6.0

3 9wl 1boO 10 w1l 3 w= 4 b0 5wl 6 b= 7wl 8 b1
001 3 nGM Bal og, InTe 2537 HUN 728446 1991/00/00 4.0

6 8wl 9b o0 1w-= 2 b= 10 w1l 4 woO 5b o0 6 w= 7 b=
001 4 mM M Torma, Robert 2434 HUN 719030 1986/00/00 6.0

2 7w = 8 b1 9wo 1boO 2wl 3 b1 10 w = 5wl 6 b1l
001 5 mMM Al nasi,|stvan 2405 HUN 701742 1973/00/00 4.0

7 6 w= 7 b= 8 w= 9b = 1w-= 2b0 3wl 4 b0 10 w =
001 6 mGM Horvat h, Csaba 2540 HUN 700118 1968/ 00/00 4.0

5 5b = 10 b = 7w = 8 b = 9 w= 1b-= 2 w= 3 b= 4 woO
001 7 m M Zhou, Yang- Fan 2473 ENG 468584 1994/00/00 3.5

9 4 b = 5w= 6 b= 10 b = 8 wo 9b = 1w-= 2b0 3 w=
001 8 fIM Rajlich,lwta 2392 PCL 1108166 1981/00/00 4.0

8 3 b0 4 woO 5b = 6 w= 7b1 10 b 1 9wl 1boO 2 w0
001 9 nGM Nguyen, Huynh M nh Huy 2496 VI E 12401269 1987/00/00 4.5

4 2b0 3wl 4 b1 5w= 6 b= 7w = 8bO 10 b = 1w-=
001 10 mM M Kovacs, Gabor 2489 HUN 716219 1977/00/00 2.5

10 1boO 6 w= 2b0 7w = 3 b0 8 wo 4 b = 9 w= 5b =




